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Third Semester B.E. Degree Examination, Aug./Sept.2O20
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I a. Reduce the circuit shown
between terminals A and B.
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b. UsingMeSFanalysis, find the
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Fig.Q3(a), find the
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resistor using suPer3 a. For the circuit shown
position theorem.
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b. hat the -"d;d;;"wer deliver to toad is1i ,

FigQ3(a)
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For ac clrcults, prove that me maxlml#il powcr trcrver "l ''o,I"*o.l,r,5p;'

where Vtr, - Thevenin's equiV?fpdt'Voltage and R16 - TheveninS"equivalent resistance.
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State the Millman's thcpiam. Using Millman's tfl[Orem, determine the current through

(2+ J2)O imp edance=dprt e network shown in Fi g. Q4 ( a).
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State tnd'fnevinin's Theorem and obtain the Thevinin's equivalent circuit for

shown in Fig.Qa@).
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Capacitor und€t itching conditions in detail
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6a. Find the Laplace of f(t) shown in Fig.Q6(a).

toffio-ition to position 2 
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t:0. Steady State condition have beenlt t'=
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&flo ---# u, t : 0* for the circuit shown in
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Find the impulse response

conditions to be zero.

.s:::,,

&n:::::,'

*,."fu;i'
shown irhifFig.Qe(b). Assuming

'rj -:::,
of the circuit

\H

v\ A zlL
t:\
i_

Fie.Q10(b)
{<{<3of3{<:l'

15EC34

that all initial
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b.
series resonance clrcult.
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Show that the circuit shown ih F;g.QZ(U) can have more than one resonant condition.
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